It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
EEEMRENEREEY. SAZERHNTR™R EPN 8298 1R, Tl E
FEixE EPN 8288 th AERE REMNEHIR ENRTERERERT.S
B EHAR ASIC TX SAFEH, EPN 8288 AIEATEIA 125°C WRAR
BESEE. ZFBERE EMMBKIINERE EPN 8288 MAREBNX SHZER
RAGENEBERASR,

FZF

S
REHLHIE
WA HIE
BERS

EPN 8288

FERR

TRERKEIRES
S E

REBFEERA]

TRFRERONEERERS, FHIINEH

RAIE

MERE pliENpd: HEE @ +25°C HAYE 1 0.5% FS HA(E
+0.3%FS HEE
WETE 0..25%0...600 bar NRERE -40°C ... +125°C
0..30&0...7500 psi
BLES 4..20mA,0...10VDC FERE -40°C ... +125°C
NLH @ 25°C (BSL) #a74(E +0.2% FS 8188 HE/ B DNV-GL EU RO Mutual Recognition Type
+0.1% FS H#E(E Approval Certificate
Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

HiER HT2318k 01/2024

]
B



EPN 8288

8288. XX XX XX XX XX XX

WEEEY BE SE 1BED BE HE 1BIED
[bar] [bar] [bar] [psi] [psi] [psi]
0..25 75 50 75 0..30 90 700 G5
0..4 12 60 76 0..50 150 850  Gé
0..6 18 100 77 0..100 300 1450 67
0..10 30 200 78 0..150 450 2500  G8
0..16 48 200 79 0..200 600 2500  GA
0..25 75 300 80  0..250 750 2500  G9
0...40 120 300 81 0..300 900 4000  HA
0...60 180 400 82  0..400 1200 4000  HO
0...100 300 500 8  0..500 1500 4000  H1
0..160 480 750 85  0..1000 3000 5000  H2
0..250 750 1000 74 0..1500 4500 7000  H3
0...400 1000 2000 8  0..2000 6000 10000  H5
0...600 1500 2500 8  0..3000 9000 14500 G4
0...5000 12500 21750  H4
0...7500 18750 29000  H6
oS KRS, KEEE £ 0.3 %; #HKL FEAE0 / SM55: 1.4542 (AISI630) 3
HBXIES, B2 0.5 %; A4k} FE/EED [ 4h55: 1.4542 (AISI630) 25
BT FE ST, KERELRR: 0.3 %; 4} [EHHE0 / 5h55: 1.4404 (AISI316L) 2 33
HEXTEA, KBRS 0.5 %; #4%L /7420 / Sh5%: 1.4404 (AISI316L) 2 35
ENER G4 shgs () 17
G1/2" JMBLY (/1) EN 83729 1
1/4" NPT SRy 3 30
1/2" NPT Mg 3 51
R1/4" JMZ4Y, DIN3858 2 19
M14x1.5 $MB4Y, DIN6149-2 2 31
9/16"-18UNF-2A SME4Y, SAE J1926-3 (128) 37 61
HSiED $E5HESL EN 175301-803-A (DIN 43650-A), #1%} PA 05
BHES  WHES S |(fteh) U (fte8)
4..20 mA (U £E9V) /20 mA 9..32VDC 19
0..10VDC >5kQ <10mA 15...32VDC 17
ot 24 FPM, -18°C ... +125°C 61
%1 EPDM, -40°C ... +125°C 63
%41 NBR, -25°C ... +100°C 83
EAEEFEETH ¢ 1.0 mm, ##11.4305 40
EHIEEIRRTTH 0 0.4 mm, #411.4305(f528823, 25) 51.4404 (fE/288 33, 35) 4 44
$E7|HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST FEBAER 4 ... 9 mm, BiA53E UL94-VO 46
EFLIESKEN175301-803-A (DIN 43650-A)/EEAHAE, -40°C ... +125°C, WFEBLER 4 ... 9 mm, ik 52 ULI4-V0 56
$E7|#LEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, X F BB ER 4 ... 9.5 mm, Bik 52 UL94-V2 58

RS 2R R HRE 1+, 185 2 -

(REEHISE 4... 20 mA FIEBZAHESE EN175301-803-A / DIN43650-A) 92
S| S HEE 1 W, S 2 -, dEE 3 + %8
({RHIES 0... 10 VDC FIEBES/A1E3k EN175301-803-A / DIN43650-A)

BRS | & S 1+, 35 2 -, 15 31 -
(UHHAEE 0... 10 VDC FIEBSS/A1ESk EN175301-803-A / DIN43650-A)

1BERATS BRI cP
ZaEs VM

) BPEFETCE

VBFEAEE >0... 10 bar

RIS |

IRERTENEAOL

ITERMBHIZ 50 HIEH

6 480 bar i3 &Y, |RAAYFESIER 160 bar

7 iR{ESAE J1926-3 (1RE) i5k, MESEERZRAN350bar

H72318k Tit5 2/6 sensors &) controls



EPN 8288

EHEQ #3f FPM %+ EPDM
(ft5361) (f£1563)

#$ NBR
(1£7383)

17 G1/4" JMELy, BiE: DIN 3869 v v v
11 G1/2" MBS (E ) EN 837
30 1/4" NPT 241
51 1/2" NPT JMRLL
19 R1/4" JMRLL, DIN3858
31 M14x1.5 YMESL DIN EN ISO 6149-2 v
61 9/16"-18UNF JMZE4Y, SAE6 (J1926) v
FRAEFE dn (BZ T HAPRARKE)
Ems HBKH EHER RAEE AliES {ieg
[bar] [bar] [vDC]
EPN2.5A 8288 752517 05 0000 0000 19 44 58 61 0..25 7.5 4..20mA 9..32
EPN4.0A 8288 762517 050000 0000 19 44 58 61 0..4 12 4..20mA 9..32
EPN6.0A 8288 77 2517 05 0000 0000 19 44 58 61 0..6 18 4..20mA 9..32
EPN10.0A 8288 78 2517 05 0000 0000 19 44 58 61 0..10 30 4..20mA 9..32
EPN16.0A 8288792517 05 0000 0000 19 44 58 61 0..16 48 4..20mA 9..32
EPN25.0A 8288 802517 05 0000 0000 19 44 58 61 0..25 75 4..20mA 9..32
EPN40.0A 8288 812517 05 0000 0000 19 44 58 61 0...40 120 4..20mA 9..32
EPN60.0A 8288 822517 050000 0000 19 44 58 61 0...60 180 4..20mA 9..32
EPN100.0A 8288 832517 05 0000 0000 19 44 58 61 0..100 300 4..20mA 9..32
EPN160.0A 8288 852517 05 0000 0000 19 44 58 61 0...160 480 4..20mA 9..32
EPN250.0A 8288 742517 05 0000 0000 19 44 58 61 0...250 750 4..20mA 9..32
EPN400.0A 8288842517 050000 0000 19 44 58 61 0...400 1000 4..20mA 9..32
EPN600.0A 8288 862517 05 0000 0000 19 44 58 61 0...600 1500 4..20mA 9..32
H72318k 75 3/6 sensors@controls



EPN 8288

B EIE BHES [ HEEE 4..20mA:24(9...32) VDC
0..10VDC 24 (15...32VDC)
EFtAtiE) BRI 1 ms/10...90 % FEES
HEER 100 ms
R EIREARIP, F2EREE @ 25°C, 5 DER 4..20mA: A U =32VDC
0..10VDC: &K U, =28VDC
FREH NEEE -40°C ... +125°C
FERE -40°C ... +125°C
it &l IP65
BE IEC 60068-2-30 (&5, &IF, 100 % RH @ +55°C)
&5 15 g RMS (20...2000 Hz) 1REFT/EEN 60068-2-64
25 g sin (10...2000 Hz), 1 Okt./min, (1x @ 25°C)
TRIBATEEN 60068-2-6
& 500 g/ 1 ms ARIBARAEEN 60068-2-27
EMCEBHERA Y iagt EN/IEC 61000-6-3, IACS UR E10
T EN/IEC 61000-6-2, IACS URE10
M2 fERkas (AN R) 1.4542 (AISI630)
EAEO (FAR) 1.4542 (AISI630) g 1.4404 (AISI316L)
IR 1.4542 (AISI630) 8§ 1.4404 (AISI316L)
=i FPM/EPDM/NBR
gk BITHES
EL #980..110¢
REHE 25Nm
) B SEE
fBE
#8510.5 % $510.3%
1I525/35 1IM523/33
FIREH @-25...+85°C [% FS B2RY{E] + 175 +0.5
¥BE @+25°C [% FS E2RY{E] +05 +0.3
NLH @ +25°C (BSL) [% FS B2RY{E] +0.2 +0.1
TCERREMERTE [% FS/K Ba7U{g] +0.03 +0.005
1 EKERTE @ +25°C [% FS BAY{E] +0.1 +0.1
$¥850.5 % $¥650.3 %
7
6 —
5 J —=
4 . —=
— 3 = 3
R 2 — - —— = R 2 e — =
> ! BN —— =1 — P
[ ST T T T T T T T T g (U el I — = —— ]
3] e T~ — 3! e i T — ==
g2 3 ~= — 22
‘5' — = = ~ 50 40 30 -20 -10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
% ~ Temp. (°C)
7 max. — — typ.—— 1 TEB(-25...+85)
50 40 30 20 -10 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp. (°C)
max. — —  typ.—— [ TEB(-25...+85)
H72318k

sensors@ controls




8288.XX.XXXX.05.XX. XX

8288.XX.XX17.XX.XX.XX

13.5 6.5 14.5

05.05x3U

8288.XX.XX51.XX.XX.XX

9/16"-18UNF

SAE6 (J1926)  229.5

HEX27
8288.XX.XX61.XX.XX.XX

H72318k

15.1 2 145

12' I
3

—
S 2 2y
L X = O~><
W <t ISR
Q= = [SYi==

8288.XX.XX30.XX. XX.XX

Ofing |11
011.3x2.2

95.05x3U /]

M5x7

M14x1.5
DIN6149-2

029.5
HEX27

8288.XX.XX31.XX.XX.XX

5.5 27

37

|
]
L

M3

v

1)Tightening torque 50...60 Ncm

8288.XX.XXXX.XX.XX.46/56

g 5/6

1)

EPN 8288

10 145

ul

= ©
=< LN
O~ = | [Tolin
olx =2 <R
Q= xlao wlxT

8288.XX.XX19.XX.XX.XX

3 20 14.5

06

-
G1/2" I:[
EN837

029.5

HEX27

8288.XX.XX11.XX.XX.XX

5.5 27

36

M3

1)

1) Tightening torque 50...60 Nem

8288.XX.XXXX.XX.XX.58

sensors <0 controls



EPN 8288

BSiEO
riP &L B SR
IP65, IP67*)
Tvim
EN175301-803A **)
05
ED+@3
e 92
P —H—(—D Us (pos. Supply) 2 1
4—20mA'_:_:_® Us (neg. Supply) 1 2
| —1+—+—+@ Earth (housing) @ ©)
T Shielg**»
ojp
g_"; 8288.XX.XXXX.XX.19
= R for DC fhg 98 97
P A Supply @® 2 3 1
——— Output @ 3 1 3
————+—+——+— Common @@ 1 2 2
U 1-—(:‘—@ Earth (housing) (©) © )
&——— Shield ***)
8288. XX.XXXX.XX.17

XERRIRME REBRFLIEL B
B ERHS
X R IR AR TLER S

B3ER

B HiEm www.trafag.com/H72318
1RAEGBAT www.trafag.com/H73317
IMRF www.trafag.com/H70693

H72318k 5 6/6 sensors & controls



